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Economics 102
Additional Practice Questions
Summer 2014

1. Holding everything else constant, in the simple Keynesian Model presented in class, when aggregate expenditure
is greater than production, this reduces the ]evio(fi‘r?(entories and in the short-run results in an increase in the
aggregate price level. In$i . a1
BEreEly Pl 2E Yy
a. True i I&ﬂnm“/'//utuw
False

2. Which of the following statements best describes the differences between the Classical and Keynesian models

presented in class? " /e feoes' Fnthe t(rn], paee
< W.UL L‘7 ” Wt At alf dea t. ¢
When the economy is ?x@nidst of an economic recession, the KeyngSian economist typically will

advocatégovernmental interventidn while the Classical economist will advocate patience.

b. According to the Classical Model, economic fluctuations are due to a disequilibrium in the labor market;
in the simple Keynesian Model, when aggregate expenditure is greater than actual production, prices rise to
eliminate this disequilibrium. '

3. Deliberate actions by policy makers that cause fiscal policy to be expansionary when the economy contracts are

called automatic stabilizers. .
Delibera cclrn e nel aufrmatse MZ«?(,, s, 7%7
a. True ; . —_— 'ﬁ,.j/,ﬁé\
False Ot desCulirany 7% <

4. Consider an economy using the Keynesian mode] as presented in class. The value of the autonomous expenditure
multiplier [1/(1-b)] in this economy is 2. If government spending increases by $50 while taxes simultaneously
increase by $50, what will happen to the equilibrium level of GDP?

a. Tt will not effectively change the level of output since the increase in government spending which
stimulates spending is exactly offset by the increase in taxes which contracts spending. X,
b. It will cause the equilibrium level of GDP to increase by less than $50 because of the multiplier effect. &
¢. It will cause the equilibrium level of GDP to increase by more than $50 because of the multiplier effect.
It will cause the equilibrium level of GDP to increase by exactly $50 due to the multiplier effect. Z

Use the Loanable Funds Model to answer the next two questions: A =2 = |z 2-2 b
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Y=C+I+G+(X-M)
In equilibrium, leakages = injections

Furthermore, suppose the government runs a balanced budget (that is, G — T + TR = 0) and collects $300 in tax
revenue. Firms spend $55 on new capital and capital inflow equals $15. Income equals $450 and $220 of that
income is spent on consumption. Furthermore, leakages equal injections in this economy.

5. What is the level of private saving in this economy?

a. $55 since private saving must equal investment in order for the loanable funds market to be in
equilibrium.

b. $70 since businesses are spending $55 of their own money plus $15 provided via the foreign sector (i.e.,
the capital inflow).
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40 since businesses are demanding $55 worth of loanable funds and the foreign sector is supplying only

$15 worth of loanable funds.
d. $25 since the total demand for loanable funds is $40 and there are $15 of loanable funds being supplied
through the capital inflow.

6. What is the level of government transfers in this economy?

a. $0

b. $90
(c.) $110-

d. $125

7. According to the Loanable Funds Model, which of the following will most likely contribute to long-run growth?

7 Nee pedpln
An increase in payments to the unemeloyed’.‘ -a m {;ﬁ\"‘r mas § ;r

a. s
b. Increased restrictions on immigration® = /afn wizc ?’:Z‘ e :2:.27,’1 Ke yob
¢

Improved birth-control methods. ¥ ~ Zgree Wisin : plowen GrowTh lalipy, fore
(@ A reduction in the capital gains tax? - %52{ " cenZies 7y Lopr , 2 Mthhff = g 254 I
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8. Answer this question according to the Classical Model. The US ruris a trade deficit with China. Holding (k] 4
everything else constant, if the US narrows this gap by increasing exports, what will happen to the level of — S"-Fa. P

investrnent in the United States? > 9 // f,_,:; * S},f_ Kl
' p I . s EhIE aly (' - K/ /< /C {
a. Investment in the U.S. will increase relative to its initial level. A ( :
Investment in the U.S. will decrease relative to its initial level. ‘ DLF, ir

¢. Imvestment in the U.S. could either increase or decrease relative to its initial level, lfF (Q 4 LM Fund,
d. There will be no effect on investment in the U.S. U,rz /
- !

9. The full employment level of output in an economy refers to the level of output produced whafi®

a. Everyone above age 16 is working}.‘ Mo~ /1y e /6 ¢ olden ardl choore Hy lot ;2 /. :‘f"" /4 bt
b. Everyone above age 16 who wants a job is working® SAHU fave ﬁ:?.ﬁwa.f o [Hweur MMW
There is no unemployment due to the business cycle.«* <7 Ne ¢ 706«( ~f e ntserys /fy wand"
4 There is no cyclical’or structural fmemployment. % af M leged 7 d::Z?uf
Fhe o> zﬁﬁ;{ sl Shwetoural

Use the following information for the next two problems. bt tvgs i d},

Consider a closed economy whose price levels in 2004 and 2005 are the same. The GDPs in 2004 and 2005 are
$4,000 and $5,000, respectively. Household consumption was $3,000 and private saving was $500 in 2004. In 2003,
the government deficit increased by $500. Private saving was $1,500 in 2005. Analyze this economy using the

Classical model given below: YC an | T 00?' ¢ ' gf’ - gnv:‘rbgf:; (T-Tr)
Y=C+Sp+T-TR 2704 | 4gUB | 30TV | 5T : ',,,1\5-”@ sdo
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In equilibrium, leakages = injections 2 C4Spt CT-TR) in 2004 . 00 @
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10. The increase in private investment in 2005 is: @ e (T-TR) - G
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11. Calculate the leakages in 2004. (T THh) + j}g - 73 M L ( W/A’-«.
fhis 3 & emm»?)
a. $500 "
$1,000 Lov £ ST = ¢OUD

c. $3.500 :

d. There is not enough information to answer this question.
12. Consider an economy using a Keynesian model. The economy is initially in equilibrium at Y'1. Holding AT
everything else constant, if there is an increase in the level of autonomous consumption this will AE - 11

= Ac . Ab(Ta)
a. Cause the equilibrium level of real GDP to increase. v ot AE |

i
b. Cause inventories to decrease if the economy continues to produce at its initial level of output./ : !
¢. Cause output to be expanded via the multiplier process. v e -

@ (a), (b) and (c) are all true statements.l \-.,\ Y' Yz. 7

Use the following information about a closed economy to answer the next two questions. k/£ 41 hme
g Y';A'E M § 3—; AL——; IZ’(’" -
C=100+0.5(Y-T) e C+L + & sbla E-m) =0 AE? ) renfins
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v 8 tYye= 270 7Y ﬁNM)/{")

1S 13. What is the value of disposable income for this economy? 450 7her » m;{%“—

» ' <

= -0 .o 270.02 et
a. 0.5(Y=T) Te — = 2
b, 100 + 0.4(Y-T) fe = 450

T

i

c. 0.8(Y-T) ; N " 8 . E— >
CdD 08y élw > 450, Vd’ﬁ-ru M/,M)/ -
14. What is the equilibrium level of income for this economy? D’to (0 G ;1: __— >/ -, 2)/
$ o bu/” plle -?nwwu—" g}’
a. $190 3 205 =4

b. $270 W/o
(co $450

d. $900

15. BiCi Credit is a bank operating in the country of Moneyland. The reserves that BiCi credit holds in an account
with Moneyland Central Bank are considered: Mowesltn) Cinkonl érCe
a. Liabilities in the balance sheet of BiCi Credit. X =7m)mg4;_, ’ B A | &
b. Assets in the balance sheet of Moneyland Central Bank¥ =)ag t-?‘vm‘—ﬂ—t—"‘ :
@ ITabilities in the balance sheet of Moneyland Central Bank. v/ T~k Rurres  Hsseave. | PO
d. They are not accounted for in the balance sheets of either BiCi Credit or Moneyland Central Bank. X
Carv
16. Suppose the demand and supply of money are given by the following equations: el

Y 100 X Demand: M =10,000-2,000~
"?;;{'\\Pq Supply: M?® =5,000
o

J,.V In the above equations, r is the interest rate, MP is money demand, and M® is money supply. Furthermore,

W 64-9' suppose that the interest rate is currently 4% (r = 4 in the above equation). Which of the following is TRUE?
a. People will want to hold money since banks are paying relatively high interest rates.
b. People will want to buy bond¥ and thus, the interest rate will rise.®

¢~ People will want to buy bonds ‘and this increased demand for bonds will lead to lower interest rates.”

d. People will want to sell bondg “and this decreased demand for bonds will lead to higher interest rates/”
23” L §

M
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17. Which of the following is most likely to be a consequence of an open market purchase of bonds by the F ederal
Reserve? v X
a. The money supply will increase, the price of bonds will fall, the interest rate will fall, and output will
increase. 4% o -
@ The mon?)z supply will increase, the price of bonds will increase, the interest rate will fall, and output will
increase. > ani 4, T 1DYT Lige ¢ b, Poends T
¢. The money supply will decrease, the price of bonds will fall, the interest rate will increase, and output will
decrease. %
d. The money supply will decrease, the price of bonds will increase, the interest rate will rise, and output will
fall.

18. Suppose the Fed increases the level of reserves in an economy by $500 through an open market purchase. In

which of the following situations will this $500 increase in reserves have the largest short run effect on the money

supply? 7 .

a. People hold all of the new reserves as currency. Mo ma—&?ﬁ'u 4

b. People hold the new reserves as equal amounts of currency and demand de osits and banks maintain a
reserve ratio of 10 percent. G 7 multplel. dp

c.  People hold the new reserves as demand deposits, and banks maintain a reserve ratio of 50 percent. /"w’u‘l ”"‘l@"&u
People hold the new reserves as demand deposits, and banks maintain a reserve ratio of 10 percent. 7’““ 2 .
C. /hd%-u7 ”~m 2
decrease in the 17«-1- ‘0

ccording to the aggregate supply and mand model, holding e
3 to which of the following sequences?
e money demand curve will shift to the right, the interest raté.will increase, the aggregate expenditure
movement upward along the aggregate demand curve.)
Thamoney demand ¢urve will shift to the lft, the interest rate willMall, the aggregate expenditurelline will
shift wpward, and there'will be movement downward along the aggregate demand curve.
¢. The money demand curve will shift to the left, the interest rate will fall)\the aggregate expe
shift downward, and there Will be movement upward along the aggregat demand curve.
d.  The money demand curve will shift to the right, the interest rate will fall, the aggregate expenditure ling
will shift upward, and there will be movement downward along the aggregate demand curve.

erything else constant,

Answer the next two questions using the following information. @ Find M‘“I n'j .,
?-(51}1) = 60U~/ Q@OOV

Money Supply: M* = 7,000 teyeclr EVEOL jo P T
Money Demand: MP =8,000-10,000r (e.g. 5% would mean that r = 0.05) @ (awd T wtwn r =.1
C =10,000+0.8(Y —1)—200P T = 5000 ~€000 (.1) = 5000600 = YY 00
I=5,000-6,000r ) Fnd e AD =AS ==>fp<§,¢,L)/¢- ¢ Pe !
G =2,000 (=10 aaof-.f(Y’ 7)-d00 s $Y0U + 2000 ¢ /200
T =2,000 = 12 £ 00 ¢ BY= , 5 2000) - 200F
X - M =1,200 Ve = 73, 600~ 1600 2098
Aggregate Demand (AD): Y=C+I+G+(X-M) .L]¢ :‘o[‘f;éofi);jﬁa
Aggregate Supply (AS): ¥ =7,000P o: J€ &, g Tedal Z000 /;éa
20. What is the 'g,quilibr.ifgm level of output (Y) and the equilibrium level of investment (I)? &d,co0 = ¥00d/e

a. 70,0006;4::1236 /.)e = /0

. alag?o’gg': 6,000, wrsp AT Ye = feoo (Fe)= 79,009 3

d. 110,000%6,000. wrig A6 Ve = $0. 800 - (000 (Fe) = 70 000

21. Think about the aggregate demand and aggregate supply model when answering this question. Suppose the

economy is in equilibrium but operating below full-employment output. What will happen in the long run in this
economy?
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a.. Nothing will happeri.k There is no need for adjustment in this market. |
Cb. Adjustment in the labor market will cause an outward shift in the short-run aggregate supply curve, va Y f Y
c.

bringing us back to equilibrium with the long-run aggregate supply curve at the full employment output. i

oy a0 P Gs ,
w‘> lfﬁﬂ](ﬁﬂ?:} = [60?' _ ' {‘.___>_§—':l—) P k
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Adjustment in the money markefwill cause an inward shift in the short-run aggregate supply curve, - s
bringing us to equilibrium with the long-run aggregate supply curve at the full employment output. ?é (mw ‘e K _
d. Adjustment in the output markef will cause an outward shift in the short-run aggregate supply curve to D Jovelege
bring us back to equilibrium with the long-run aggregate supply curve at the full employment output. 73 _
¢ - S )/C 'f/Y/ﬂ)
Use the following Keynesian Model of a closed economy to answer the next twe questions. /n L fc’f) SnA f‘z—@g A
niwich
Y=C+S+T SR AT 6 i y
AE=C+I+G ]Gﬂ;?'/“ﬁm ol
Y =AE incquilibrium +o Yfe
C=a+b(¥-T) |
The aggregate consumption function of Badgerland is linear in disposable income (Y - T). Assume that the economy
is in equilibrium each year. \/ s O T+S
Year Y T C ] G S i -
2004 1000 100 830 70 @) 100 |0 Fo (000 = 830t
2005 1200 150 |@) 43s 200 115 <= o ©
2006 1500 200 (31110 100 %) 290 |n 2005
‘ jpeazC w150+ HS
22. The consumption in 2005 is ___; the consumption in 2006 is . - 93¢
a. 9381;911000?‘ Mmpee = 4<€ . 935-530 ¢
b. 900%1100. - ok
2 - 0-900
¢, 900;,1000. AQY-T) 105

7a) 935711107 mee = = :%:%:,?
(Y-
23. What is the nominal growth rate of government spending (G) between 2004 and 2006? g =at '
a.) 190% Y=C¢ L +G sz as Flr=T)

c. 90% & = Jou 670
0 7o > & F =
4 S0% o 2006 = /5‘0(; zYlos zgéfé ELAN, 7= 200+ F(Y-T)

24. If the Federal Open Market Committee decides to expand th€ money supply, then it will
a. raise the discount rate to member banks. £ Py T—573US 6 @ h 2008 ¢
i_ssue ch:rect@ons to purchase government Esf_:curities, thL}S putting more reserves in member banks. C =200+ F(I700)
c. issue directions to sell government securities, thus taking reserves from member banks. _ 5
~d.  order new Federal Reserve notes delivered to member banks. cC =/M1o

mmittee decides to expand the money supply, then it will
iti i more\ré@"ves in em\g\banks.

reserv%@m member ba;

Reserve notes-delivered to mémber ban

26. The aggregate demand curve / Jrrre LU 77 L‘?

Cﬁg)represents the relationship between prices and quantifies of all goods produced in an economy.

. is derived from equilibrium conditions in the labdT and money markets.

c. gives the equilibrium level of real GDP corresponding to a given price level. reed 45
d. plots the interest rate as a function of output. X
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27. Which of the follbwin ‘\"V0‘{11d lead to a dotmward movement along the aggregate demand curve? 1
fibwing I}

—

a. a decrease in government purchases.
L) {MM Camsed h AD

b. an increase in the money supply.
(c)a decrease in the price level. A /)v‘ul. I )

d. a decrease in taxes. -~ Caetsee /?D A ﬁﬁﬂ)fns/lf' Cast WLM Y] Y—L Y

28. Which of the following would shift the aggregate demand cyrve to the right? X
a. increase in government purchases, investment spending, autonomous consumption, taxes, or the money

[
)

1 v
supply.- e v N -
@increase in government purchase?nvestment spendmgﬁutonomous consumptlor%,/or the money supply.
c. increase in government purchases, investment spending, aytonomous consumption or taxes. e f
2

d. decrease in governm?gt purchase's‘ or investment spending, and increases in autonomous consumption, taxe
or the money supply.

; i i e
29. The aggregate supply curve would shift downward if =5 A{;}C AT % &f/‘

a. unit costs increase due to an increase in output.

b. the wage rate increases. —> ah ) rRAC 1 C(»ff'
(&) good weather increases crop yields. — 7&4}’5 SRAT h /V(S“T

~d. an increase in real GDP causes the price level to decrease. —5 2 7\
2 poritine desmandohoxh A, h 4D, D Ve Ve =213 /MR naw;‘mzf«w
30. If a demand shock causes an economy to operate at a point above potential GDP, then X _.nobP witt [
a. the aggregate supply curve will shift to return the economy to the original point of equilibrium :
e ————————————————

Mo‘%n—
:a_“f Yfe

B
y % .
§ the economy will correct itself through rising wages and prices. L\R/{ §  srA 24
5 . this short run equilibrium point will become the new long run equilibrium GDP.
\'\ § d. the economy will correct itself through fallilfvg wage rates and prices. f‘ x| SR oo 402
E (’M‘*""f"' wad AD
‘8 31. In the long run AS-AD model, Sl
a. the position of the AD curve determines output. No LreAS aed. y fe ns, '
4\_/ b. the self-correcting mechanism of the economy is irrelevant. Mmustho N’L b
c. the AS curve shifts leftward whenever the economy is growing. at Yk 1 2

@ the position of the AD curve determines the price level.

a. A positive supply shock.
b. A positive supply shock combined with a p
A negative supply shock.
A positive demand shock.

would be its Tikely interpretation and response?
a. Money demand has increased; sell government bonds.

b.. Money supply has decreased; buy government bonds.
@ Money demand has decreased; sell government bonds.
d. Money demand has increased; buy government bonds.




